Year 2 home learning week commencing 18" May 2020

Maths

This week, we are going to use some more NCETM videos to continue our learning about money.
Activity 1
Watch the video here then answer the questions below:

https://www.youtube.com/watch?v=58rW-bv6YNY&list=PLQgF8sn28L9yTVIWxpHw-
9BbgRe f49fr&index=10&t=0s

1. Label each coin with its value then say how much money there is altogether:

Thereare 4 2p coins.
The coins have a value of __8 _ p altogether.

3. Draw a set of 2p coins to make a total value of 10p.

4. Miss Coope says she has 14p. Is she right or wrong? Explain your answer.

She is wrong because she has 2 x 2p + 10p + 1p = 15p


https://www.youtube.com/watch?v=58rW-bv6YNY&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=10&t=0s
https://www.youtube.com/watch?v=58rW-bv6YNY&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=10&t=0s

Activity 2
Watch the video here then answer the questions below:

https://www.youtube.com/watch?v=CDYvlzFbHDU&lIist=PLQqF8s5n28L9yTVIOWxpHw-
9BbgRe f49fr&index=10

1'

Thereare 5  5pcoins.
The total valueis 25  p.

What did you count in to help you work this out?
| counted in 5s because they are all 5p coins.

2. Draw a set of 5p coins with a total value of 40p.

Thereare 5  10p coins.
The total valueis 50  p.

4. | have six ten pence coins. What is the total value of this set of coins?
6 x 10p = 60p

5. Miss Coope has ten 5p coins. Mrs Dunning has five 10p coins. Who has the most money? Explain
your answer.

They both have the same amount of money because 5 x 10 =10 x 5
They both have 50p.


https://www.youtube.com/watch?v=CDYvlzFbHDU&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=10
https://www.youtube.com/watch?v=CDYvlzFbHDU&list=PLQqF8sn28L9yTV9WxpHw-9BbqRe_f49fr&index=10

